	PA - SCHEDULE OF ACCOMMOD	ATIONS			JUMP DESIGN - TECHNICAL SUBMISSION			
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
	PROGRAM FLEXIBILITY							
PROGRAM FLE	XIBILITY - CHILD CARE CENTRE							
D1.2A	TODDLER	1.0	78.0	78.0	1.0	78.0	78.0	0.0
D1.2B	PRESCHOOL/TODDLER	1.0	82.0	82.0	1.0	82.0	82.0	0.0
D1.2C	PRESCHOOL	1.0	91.0	91.0	1.0	91.0	91.0	0.0
D1.2D	PRESCHOOL	1.0	91.0	91.0	1.0	91.0	91.0	0.0
D1.4	SLEEP	2.0	14.0	28.0	1.0	14.0	14.0	-14.0
D1.4	SLEEP	0.0	0.0	0.0	1.0	14.0	14.0	14.0
D1.5	STAFF ROOM	1.0	21.0	21.0	1.0	21.0	21.0	0.0
D1.6	OFFICE	2.0	11.0	22.0	1.0	11.0	11.0	-11.0
D1.6	OFFICE	0.0	0.0	0.0	1.0	11.0	11.0	11.0
D1.7	CUBBIES	1.0	44.0	44.0	1.0	0.0	0.0	-44.0
D2.1	KITCHEN	1.0	44.0	44.0	1.0	44.0	44.0	0.0
D2.2	PANTRY	1.0	9.5	9.5	1.0	10.0	10.0	0.5
D2.3	TUB	1.0	8.5	8.5	1.0	9.0	9.0	0.5
D2.4	CHANGE ROOM	1.0	9.5	9.5	1.0	9.0	9.0	-0.5
D2.5	LAUNDRY	1.0	8.0	8.0	1.0	9.0	9.0	1.0
D2.6	STORAGE	1.0	13.0	13.0	1.0	13.0	13.0	0.0
D2.7	VESTIBULE		60.0	60.0	1.0	27.0	27.0	-33.0
D2.7	VESTIBULE	0.0	0.0	0.0	1.0	27.0	27.0	27.0
D2.8	W/C	2.0	15.5	31.0	1.0	15.5	15.5	-15.5
D2.8	W/C	0.0	0.0	0.0	1.0	15.5	15.5	15.5
D2.11	JANITOR	1.0	7.0	7.0	1.0	7.0	7.0	0.0
D2.12	INFANT	1.0	50.0	50.0	1.0	50.0	50.0	0.0
PROGRAM FLI	EXIBILITY - CHILD CARE TOTAL	20.0		697.5	22.0		649.0	-48.5
PROGRAM FLE	EXIBILITY - COMMUNITY RESOURCE CENTRE							
D3.1	COMMUNITY RESOURCE CENTRE	1.0	110.0	110.0	1.0	110.0	110.0	0.0
D3.2	MEETING ROOM	1.0	20.0	20.0	1.0	20.0	20.0	0.0
D3.3	OFFICE	1.0	10.0	10.0	1.0	10.0	10.0	0.0
D3.4	W/C	1.0	9.0	9.0	1.0	9.0	9.0	0.0
D3.5	COMMUNITY STORAGE	1.0	20.0	20.0	1.0	20.0	20.0	0.0
PROGRAM FLI	EXIBILITY - COMMUNITY RESOURCE TOTAL	5.0		169.0			169.0	0.0
PROGRAM FLE	XIBILITY - PRE-KINDERGARTEN							
P3.1	LEARNING SPACE - PRE KINDERGARTEN	2.0	85.0	170.0	1.0	85	85.0	-85.0
P3.1	LEARNING SPACE - PRE KINDERGARTEN	0.0	0.0	0.0	1.0	85	85.0	85.0
P3.2	PRE KINDERGATEN W/C	2.0	4.5	9.0	1.0	4.5	4.5	-4.5
P3.2	PRE KINDERGATEN W/C	0.0	0.0	0.0	1.0	4.5	4.5	4.5
PROGRAM FLI	EXIBILITY - PRE-KINDERGARTEN TOTAL	4.0		179.0			179.0	0.0
PROGRAM FLI	EXIBILITY TOTAL			1045.5			997.0	-48.5
GROSS FACTO	R			12.90%				
GROSS FACTO	R AREA			134.9				
PROGRAM FLI	EXIBILITY FOOTPRINT TOTAL			1180.4			1233.0	-48.5

	PA - SCHEDULE OF ACCOMM	ODATIONS					P DESIGN - L SUBMISSION	I
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
	GREATER SASKATOON CATHOLIC	SCHOOL (G	SCS)					
ADMINISTRAT	TION							
A1.0	RECEPTION	1.0	45.0	45.0	1.0	45.0	45.0	0.0
A1.1	WAITING	1.0	24.0	24.0	1.0	24.0	24.0	0.0
A2.1	COUNSELLING / FIRST AID	1.0	32.0	32.0	1.0	32.0	32.0	0.0
A3.1	PRINCIPAL'S OFFICE	1.0	14.0	14.0	1.0	14.0	14.0	0.0
A3.2	VICE PRINCIPAL'S OFFICE	1.0	12.0	12.0	1.0	12.0	12.0	0.0
A3.5	INTINERANT SPACE	2.0	15.0	30.0	1.0	15.0	15.0	-15.0
A3.5	INTINERANT SPACE	0.0	0.0	0.0	1.0	15.0	15.0	15.0
A3.7	BUILDING SERVICES WORK STATION	1.0	12.0	12.0	1.0	15.0	15.0	3.0
A3.7 A4.1	STAFF ROOM	1.0	65.5	65.5	1.0	65.5	65.5	0.0
A4.1 A4.2	TEACHER COLLABORATION	4.0	28.0	112.0	1.0	28.0	28.0	-84.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.3	WORKROOM	2.0	26.0	52.0	1.0	31.0	31.0	-21.0
A4.3	WORKROOM	0.0	0.0	0.0	1.0	31.0	31.0	31.0
A4.3 A4.4	STORAGE	1.0			1.0	10.0		
			10.0	10.0			10.0	0.0
G2.7	COUNSELLING	1.0	25.0	25.0	1.0	25.0	25.0	0.0
ADMINISTRAT	FION TOTAL	17.0		433.5	17.0		446.5	13.0
BUILDING SER	VICE			-			_	_
B1.0	SERVERY	1.0	36.0	36.0	1.0	36.5	36.5	0.5
B2.1	GIRLS CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.2	BOYS CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.3	KINDERGARTEN WASHROOM						0.0	0.0
B2.4	STUDENT W/C						0.0	0.0
B2.5	UNISEX BARRIER FREE W/C						0.0	0.0
B2.6	STAFF W/C						0.0	0.0
B2.7	SHOWER	1.0	4.5	4.5	1.0	4.5	4.5	0.0
B4.0	RECYCLING	2.0	10.0	20.0	1.0	11.0	11.0	-9.0
B4.0	RECYCLING	0.0	0.0	0.0	1.0	11.0	11.0	11.0
B5.0	JANITOR	5.0	0.0	48.0	1.0	13.2	13.2	-34.8
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B8.1	GYM OFFICE	1.0	18.0	18.0	1.0	18.0	18.0	0.0
B8.2	GYM STORAGE	1.0	84.0	84.0	1.0	84.0	84.0	0.0
BUILDING SER	RVICE TOTAL	8.0		270.5	13.0		291.0	20.5

	PA - SCHEDULE OF ACCOMMOD	ATIONS			JUMP DESIGN - TECHNICAL SUBMISSION			
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
CIRCULATION								
C3	BOOT ROOM	2.0	27.0	54.0	1.0	29.5	29.5	-24.5
C3	BOOT ROOM	0.0	0.0	0.0	1.0	29.5	29.5	29.5
C4	MAIN ENTRY VESTIBULE	1.0	22.0	22.0	1.0	22.0	22.0	0.0
CIRCULATION	TOTAL	3.0		76.0	3.0		81.0	5.0
GENERAL INST	RUCTION							
G1.1	LEARNING SPACE 2-8	13.0	80.0	1040.0	1.0	80.0	80.0	-960.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	5.0	80.0	400.0	1.0	80.0	80.0	-320.0
G1.2	LEARNING SPACE K-1	0.0	80.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	80.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	80.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	80.0	0.0	1.0	80.0	80.0	80.0
GENERAL INST	RUCTION TOTAL	18.0		1440.0	18.0		1440.0	0.0

	PA - SCHEDULE OF ACCOMMO	DATIONS					P DESIGN - LL SUBMISSION	I
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
INSTRUCTION	AL SUPPORT							
G2.2	BREAKOUT	5.0	42.0	210.0	1.0	42.0	42.0	-168.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.6	LEARNING COMMONS	1.0	70.0	70.0	1.0	70.0	70.0	0.0
G2.8	PERSONAL CARE W/C	1.0	16.0	16.0	1.0	16.0	16.0	0.0
G2.9	SENSORY ROOM	1.0	14.5	14.5	1.0	14.5	14.5	0.0
G2.10	EAL CLASSROOM	1.0	50.0	50.0	1.0	50.0	50.0	0.0
G2.12	LAT INSTRUCTIONAL SPACE	1.0	53.0	53.0	1.0	53.0	53.0	0.0
G2.13	LAT OFFICE	1.0	21.0	21.0	1.0	21.0	21.0	0.0
G2.15	LAUNDRY / STORAGE	1.0	11.0	11.0	1.0	11.0	11.0	0.0
G2.16	STORAGE	1.0	7.0	7.0	1.0	7.0	7.0	0.0
G2.17	IT CLOSET	0.0	0.0	15.0	1.0	10.5	10.5	-4.5
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	10.5	10.5	10.5
G2.19	IT STORAGE	4.0	2.5	10.0	1.0	2.5	2.5	-7.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.24	STUDENT COMMONS	2.0	90.0	180.0	1.0	92.5	92.5	-87.5
G2.24	STUDENT COMMONS	0.0	0.0	0.0	1.0	92.5	92.5	92.5
INSTRUCTIONAL SUPPORT TOTAL 1				657.5	21.0		668.5	11.0
PHYSICAL ACT	PHYSICAL ACTIVITY							
P1.1	GYM	1.0	485.0	485.0	1.0	485.0	485.0	0.0
P2.11	MULTI PURPOSE PHYSICAL ACTIVITY	1.0	170.0	170.0	1.0	170.0	170.0	0.0
PHYSICAL ACT	IVITY TOTAL	2.0		655.0			655.0	0.0

	PA - SCHEDULE OF ACCOMMOD	ATIONS					DESIGN - L SUBMISSION	ı
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
PROGRAM AR	TS							
P2.1	MULTI PURPOSE DA VINCI	2.0	90.0	180.0	1.0	96.0	96.0	-84.0
P2.1	MULTI PURPOSE DA VINCI	0.0	0.0	0.0	1.0	96.0	96.0	96.0
P2.6	MULTI PURPOSE PERFORMANCE	1.0	41.0	41.0	1.0	41.0	41.0	0.0
P2.8	MULTI PURPOSE VISUAL ARTS	1.0	110.0	110.0	1.0	110.0	110.0	0.0
P2.10	MULTI PURPOSE BAND	1.0	120.0	120.0	1.0	120.0	120.0	0.0
PROGRAM AR	TS TOTAL	5.0		451.0	5.0		463.0	12.0
RESOURCE CE	NTRE							
R1.1	LIBRARY	1.0	190.0	190.0	1.0	120.0	120.0	-70.0
R1.2	RESOURCE / LIBRARY OFFICE	1.0	13.0	13.0	1.0	12.0	12.0	-1.0
R1.5	STORAGE	1.0	8.5	8.5	1.0	8.5	8.5	0.0
R1.6	RESOURCE ROOM	2.0	40.0	80.0	1.0	40.0	40.0	-40.0
R1.6	RESOURCE ROOM	0.0	0.0	0.0	1.0	40.0	40.0	40.0
R2.1	LIBRARY MEZZANINE	1.0	120.0	120.0	1.0	221.0	221.0	101.0
RESOURCE CE	NTRE TOTAL	6.0		411.5	6.0		441.5	30.0
SCIENCE LABS								
P2.1	MULTI PURPOSE DA VINCI / SCIENCE STUDI	1.0	85.0	85.0	1.0	85.0	85.0	0.0
SCIENCE LABS	TOTAL			85.0			85.0	0.0
GSCS TOTAL				4480.0			4571.5	91.5
GROSS FACTO	R			43.75%				
GROSS FACTO	R AREA			1960.0				
GSCS FOOTPR	INT TOTAL			6440.0			6549.4	

	PA - SCHEDULE OF ACCOMMO	DATIONS			JUMP DESIGN - TECHNICAL SUBMISSION			
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
	SASKATOON PUBLIC SCHOOL	L (SPS)						
ADMINISTRAT	TION							
A1.0	RECEPTION	1.0	62.0	62.0	1.0	62.0	62.0	0.0
A1.1	WAITING	1.0	20.0	20.0	1.0	25.0	25.0	5.0
A2.1	COUNSELLING / FIRST AID	2.0	20.0	40.0	1.0	20.0	20.0	-20.0
A2.1	COUNSELLING / FIRST AID	0.0	0.0	0.0	1.0	20.0	20.0	20.0
A3.1	PRINCIPAL'S OFFICE	1.0	14.0	14.0	1.0	14.0	14.0	0.0
A3.1 A3.2	VICE PRINCIPAL'S OFFICE	1.0	12.0	12.0	1.0	12.0	12.0	0.0
					1.0	20.0		
A3.5	INTINERANT SPACE	1.0	20.0	20.0			20.0	0.0
A3.7	BUILDING SERVICES WORK STATION	1.0	12.0	12.0	1.0	12.0	12.0	0.0
A4.1	STAFF ROOM	1.0	65.5	65.5	1.0	94.0	94.0	28.5
A4.2	TEACHER COLLABORATION	4.0	30.0	120.0	1.0	30.0	30.0	-90.0
A4.2 A4.2	TEACHER COLLABORATION TEACHER COLLABORATION	0.0	0.0	0.0	1.0	30.0 30.0	30.0 30.0	30.0 30.0
A4.2 A4.2	TEACHER COLLABORATION TEACHER COLLABORATION	0.0	0.0	0.0	1.0	30.0	30.0	30.0
A4.2 A4.3	WORKROOM	2.0	32.0	64.0	1.0	32.0	32.0	-32.0
					1.0	32.0		
A4.3	WORKROOM	0.0	10.0	0.0		32.0	32.0	32.0
ADMINISTRAT	TION TOTAL	15.0		429.5	15.0		463.0	33.5
BUILDING SER	VICE							
B1.0	SERVERY	1.0	36.0	36.0	1.0	36.5	36.5	0.5
B2.1	GIRL'S CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.2	BOY'S CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.3	KINDERGARTEN W/C						0.0	0.0
B2.4	STUDENT W/C						0.0	0.0
B2.5	BARRIER FREE W/C						0.0	0.0
B2.6	STAFF W/C						0.0	0.0
B2.7	SHOWER	1.0	4.5	4.5	1.0	4.5	4.5	0.0
B4.0	RECYCLING	1.0	20.0	20.0	1.0	22.0	22.0	2.0
B5.0	JANITOR			48.0	1.0	19.7	19.7	-28.3
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7
B8.1	OFFICE GYM	1.0	18.0	18.0	1.0	18.0	18.0	0.0
B8.2	GYM STORAGE	1.0	84.0	84.0	1.0	84.0	84.0	0.0
BUILDING SER		7.0		270.5	11.0		303.8	33.3
CIRCULATION	·							
C3	BOOT ROOM	2.0	27.0	54.0	1.0	29.5	29.5	-24.5
C3	BOOT ROOM	0.0	0.0	0.0	1.0	29.5	29.5	29.5
C4	MAIN ENTRY VESTIBULE	1.0	22.0	22.0	1.0	22.0	22.0	0.0
CIRCULATION	IOIAL	3.0		76.0	3.0		81.0	5.0

	PA - SCHEDULE OF ACCOMMOD	ATIONS			JUMP DESIGN -			
	FA - 3CHEDOLE OF ACCOMMOD	ATIONS				TECHNICA	L SUBMISSION	ı
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
GENERAL INST	RUCTION							
G1.1	LEARNING SPACE 2-8	17.0	80.0	1360.0	1.0	80.0	80.0	-1280.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	5.0	80.0	400.0	1.0	80.0	80.0	-320.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
	TRUCTION TOTAL	22.0		1760.0	22.0		1760.0	0.0
INSTRUCTION		1 40	25.0	25.0	1.0	25.0	25.0	0.0
G2.1 G2.2	ACTIVITY ROOM BREAKOUT	1.0	35.0 35.0	35.0 175.0	1.0	35.0	35.0 35.0	0.0 -140.0
G2.2 G2.2	BREAKOUT	5.0 0.0	0.0	0.0	1.0	35.0 35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.3	RESOURCE / CULTURAL ROOM	1.0	30.0	30.0	1.0	30.0	30.0	0.0
G2.5	TUTORIAL	2.0	25.0	50.0	1.0	25.0	25.0	-25.0
G2.5	TUTORIAL	0.0	0.0	0.0	1.0	25.0	25.0	25.0
G2.6	LEARNING COMMONS	4.0	82.0	328.0	1.0	82.0	82.0	-246.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0

	PA - SCHEDULE OF ACCOMMO	DATIONS					DESIGN - L SUBMISSION	l .
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
G2.8	PERSONAL CARE W/C	1.0	16.0	16.0	1.0	16.0	16.0	0.0
G2.9	SENSORY ROOM	1.0	30.0	30.0	1.0	30.0	30.0	0.0
G2.11	FLS CLASSROOM	1.0	97.0	97.0	1.0	97.0	97.0	0.0
G2.14	LAUNDRY	1.0	15.0	15.0	1.0	15.0	15.0	0.0
G2.16	STORAGE	1.0	26.0	26.0	1.0	26.0	26.0	0.0
G2.17	IT CLOSET	0.0	0.0	15.0	1.0	16.6	16.6	1.6
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	16.6	16.6	16.6
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	16.6	16.6	16.6
G2.19	IT STORAGE	4.0	2.5	10.0	1.0	2.5	2.5	-7.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.20	FLS KITCHEN	1.0	26.0	26.0	1.0	26.0	26.0	0.0
G2.24	STUDENT COMMONS	1.0	65.0	65.0	1.0	85.0	85.0	20.0
INSTRUCTION	AL SUPPORT TOTAL	24.0		918.0	27.0		972.8	54.8
PHYSICAL ACT	IVITY							
P1.1	GYMNASIUM	1.0	485.0	485.0	1.0	485.0	485.0	0.0
P2.11	MULTI PURPOSE PHYSICAL ACTIVITY	1.0	170.0	170.0	1.0	170.0	170.0	0.0
PHYSICAL ACT	IVITY TOTAL	2.0		655.0	2.0		655.0	0.0
PROGRAM AR	TS							
P2.4	MULTI PURPOSE MUSIC	1.0	45.0	45.0	1.0	45.0	45.0	0.0
P2.6	MULTI PURPOSE PERFORMANCE	1.0	41.0	41.0	1.0	41.0	41.0	0.0
P2.7	MULTI PURPOSE FLEX / DRAMA	1.0	45.0	45.0	1.0	45.0	45.0	0.0
P2.8	MULTI PURPOSE VISUAL ARTS	1.0	120.0	120.0	1.0	120.0	120.0	0.0
P2.10	MULTI PURPOSE BAND	1.0	120.0	120.0	1.0	120.0	120.0	0.0
PROGRAM AR		5.0		371.0	5.0		371.0	0.0

	PA - SCHEDULE OF ACCOMMOD	ATIONS			JUMP DESIGN - TECHNICAL SUBMISSION			
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
RESOURCE CE	NTRE							
R1.1	LIBRARY	1.0	160.0	160.0	1.0	128.0	128.0	-32.0
R1.2	RESOURCE / LIBRARY OFFICE	2.0	16.0	32.0	1.0	16.0	16.0	-16.0
R1.2	RESOURCE / LIBRARY OFFICE	0.0	0.0	0.0	1.0	16.0	16.0	16.0
R1.4	LIBRARY SEMINAR	1.0	16.5	16.5	1.0	16.5	16.5	0.0
R1.6	RESOURCE ROOM	1.0	20.0	20.0	1.0	30.0	30.0	10.0
R2.1	LIBRARY MEZZANINE	1.0	195.0	195.0	1.0	225.0	225.0	30.0
RESOURCE CE		6.0		423.5	6.0		431.5	8.0
SCIENCE LABS					1.0	120.0		
P2.1	MULTI PURPOSE DA VINCI / SCIENCE	1.0	90.0	90.0	1.0	120.0	120.0	30.0
SCIENCE LABS	TOTAL			90.0			120.0	30.0
SPS TOTAL				4993.5			5158.1	134.6
GROSS FACTO)R			43.20%				
GROSS FACTO	DR AREA			2157.2				
RPS FOOTPRI	NT TOTAL			7150.7			7487.4	
BUILDING TO	TAL			10519.0			10726.6	177.6
GROSS FACTO	PR AREA TOTAL		40%	4252.1		12%	1335.4	-2916.7
	OOTPRINT TOTAL D PERMANENT CONST.)			14771.1			12062.0	-2709.1
(WIIII ADDL	DIENVIALENT CONST.							
ADDITIONAL E	LEMENTS - EVERGREEN SCHOOL							
	RELOCATABLE CLASSROOM	0.0	83.0	0.0	0.0	83.0	0.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR	0.0	105.0	0.0	0.0	105.0	0.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.0
ADDITIONAL F	ELEMENTS - HAMPTON SCHOOL							
	RELOCATABLE CLASSROOM	6.0	83.0	498.0	6.0	83.0	498.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR	6.0	105.0	630.0	6.0	105.0	630.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.0
ADDITIONAL	TIEMENTS DOSENIOOD SOLIOO:							
ADDITIONAL E	ELEMENTS - ROSEWOOD SCHOOL	4.0	00.0	00.0	1.0	1 00.0	00.0	
	RELOCATABLE CLASSROOM	1.0	83.0	83.0	1.0	83.0	83.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR	1.0	105.0	105.0	1.0	105.0	105.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.